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(Usage of PSG Design data bo&:s perxmtbed)
Answer ALL quem.
PART A — (10 x 2‘=Z£nmxks)
. 1. Alonger belt will last more than a shorter b%why’
2. List the advantages of wire ropes compared to chains.

What are the effects of increasing or d ‘reasin
design?

the pressure angle in gear

Differentiate double helical and henmgbonegéam.
What is known as formative number of teetb&; bevel gears?

Write the conditions of self locking of worm&s in terms of lead and pressure
angles.

7. . Why geometric progression is selected for am:gmg the speeds in gear boxes’
What does the ray diagram of gear box mch&’

Differentiate a brake and a dynamometer.

Double shoe brakes are preferred than slngﬁﬁme brake, why?
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Design a 9 speed gear box for a milling machine with speeds ranging
from 56 to 900 rpm. The output speedris 720 rpm. Make a neat sketch of
the gear box. Indicate the number Q{ teeth on all the gears and their
speeds Assuming the gears and shaﬁna;-e made of C45, calculate module,
centre distance and diameter of the spindle.

Or

Design a 12 speed gear box. The reg;ed speed range is 100 to 355 rpm.
Draw the ray diagram, kinematic z rangement and find the number of
teeth on each gear. Check for the int nee.

A multi dise clutch, steel on bronnﬁto transmit 20 kW at 1440 rpm.
The clutch is to be operated in oil wﬂthe co-efficient of friction 0.08 and
the average pressure 0.3 MPa. Space himitation permits only 230 mm as
outside diameter of the clutch. ning uniform pressure, determine
(i) size of the clutch, if the ratio of mean radius to face width is 3
(i1) actual axial force required, (i) %ﬂl maximum pressure (iv) actual

average pressure. The ratio of Ri/ %@n be chosen between 0.5 to 0.75,
suitably and logically.

Or
A 400 mm radius brake drum con a single shoe as shown in fig. 15(b)
and sustains 200 N-m torque at 5 m. For a coefficient of friction 0.25,
determine (i) Normal force on the &i@ Required force F to apply the
brake for clockwise rotation (iii) Required force F to apply the brake for
counter clockwise rotation (iv) Th&Lﬁnensmn c required to make the

_ brake self-locking, assuming otheﬁ%ensxons remain same (v) Heat

generated.
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